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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. Give answer of the following questions :
fr=fafea st & sWw ST .
(i) Describe the meaning of Labour Economics.

oA YIS & 31 w1 faeEAr wifsm)

(i) What is the meaning of ‘Automation’ ?
‘Terferar’ 1 e ¥ 2

(i11) What do you mean by Drived Demand

Curve ?

I HIT g% W T I 9EEd © 2
(iv) What is Bonus ?

Afeesier = T 2
(v) Define Labour Organisation.

7 T h TR HifST |
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(vi) What is 1.L.O. ?
FETAS. R T ?

(vit) Explain the concept of Labour Welfare Fund
with respect to India.
XA & F<H H o7 FHeA HIY hi TAIRON
HHART

(viii) Explain the concept of labour supply

function.

99 G W I STAURUT 1 IS TS |
Section-B 4x8=32
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.
gug—d
(1Y ST q99)
e - fodl w® wel & S STl e st S| oW
sfasham 200 vsgi H UiiEifgg wifST Tdw 99H
8 i &1 T
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. Explain the various characteristics of Labour.

s fafa= fagroaedt =1 v wifsw)

. What do you mean by Unemployment ? Explain

its various types.
SRISATRT § &9 941 §Heid § 7 9% fafy= y&ri &l
HHETRT |

. Explain ‘Cartter Model’ of wage determination

under bilateral monopoly.

fo-uefa TR & oT<ria dsigd feRo & ‘e
Higd’ l FHHAET |

. Differentiate between Time wages system and Piece

wages system.

IIAER oG 95 a9 HEER gegd usfd |
RN T HIfT |

. Discuss the main characteristics of a powerful and

successful trade union.

TH Hge a9 W s WH wl wHE ferraet &
T IS |
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. Describe the various benefits of social security
system which are declared by International Labour

Organisation.

SRR oH TS gR1 SISt gRem gomett & forg
s fafi= ot =t foa=m sifsm)

. Discuss the basic problems of woman labours.
Tfgen wffehi 1 STHRYT THEAST *1 JuH Hife |

. Explain the various causes of the poor economic
conditions of agricultural labour. Also suggest the

measures to improve them.
Ffa gfawl w5t €9 onfdew gen & fafy= wRon @@
T HI GU TAH R =BG UM w1 W e S|

Section—-C 2x16=32

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 16 marks.
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feer .- =8l 91 w9l & SR SIfST | o9 3T SR Al AfereRas
500 vIssi § qREifHG SIS 9 99T 16 3Rl

10.

11.

12.

Wig—xH
(&d s 99)

Tl
With the help of MPP, VMP and MRP, explain
the modern theory of wage determination.
MPP, VMP a=1 MRP &1 Hermd 9§ #oigd e &
syf fagT a9y
“As a vechicle for industrial peace collective

bargaining has no equal.” Elucidate.

“sienfirr S & a6 & ®9 H AWfeh WRHRT hi
FE W TE T T Hiw
How far has international labour organisation been

successful in achieving its objectives ? How has

India benefitted from its membership ?

RIS o e 319 @edl &t Wi § HEl ah
ThaT T § 7 3HH! TSIl § 9N {8 yhR anfaa

TAE ?
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13. What is ‘Minimum Wage’ ? Why should it be
compulsory ? Give your reasons with reference to
its objectives and position in India.

‘AR Aol F % ? A eIfed &= Bt =fey ?

THS 3T U9 fRufd =1 9vH 9ra & 9= § i)
4+4+4+4
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